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Exercice 1

Effectuer sans calculatrice :

◮1. −9 + (−6) = . . . . . . . . .

◮2. 16 + 9 = . . . . . . . . .

◮3. 2 + (−3) = . . . . . . . . .

◮4. −7 + . . . . . . . . . = −17

◮5. 10 + (−4) = . . . . . . . . .

◮6. −3 + . . . . . . . . . = −5

◮7. . . . . . . . . . − (−10) = −6

◮8. −6 − (−2) = . . . . . . . . .

◮9. 6 + (−1) = . . . . . . . . .

◮10. 2 + (−4) = . . . . . . . . .

◮11. −3 − 3 = . . . . . . . . .

◮12. . . . . . . . . . + (−1) = 1

◮13. 8 + . . . . . . . . . = 9

◮14. . . . . . . . . . − (−6) = −2

◮15. −1, 7 − . . . . . . . . . = −3, 5

◮16. 5, 2 − . . . . . . . . . = −0, 4

◮17. −8, 5 + . . . . . . . . . = −17, 4

◮18. −6, 1 + . . . . . . . . . = −6, 3

◮19. −0, 100 000 000 000 001 −

(−5, 4) = . . . . . . . . .

◮20. . . . . . . . . . − (−9) = 1, 4

Exercice 2

Effectuer sans calculatrice :

◮1. 6 + 6 = . . . . . . . . .

◮2. −9 + 6 = . . . . . . . . .

◮3. 17 + 9 = . . . . . . . . .

◮4. 17 + 8 = . . . . . . . . .

◮5. 5 − . . . . . . . . . = −2

◮6. −7 + 10 = . . . . . . . . .

◮7. 0 − . . . . . . . . . = −10

◮8. −3 + 2 = . . . . . . . . .

◮9. . . . . . . . . . + 4 = 7

◮10. 5 − (−2) = . . . . . . . . .

◮11. 6 + . . . . . . . . . = −4

◮12. 3 + 10 = . . . . . . . . .

◮13. . . . . . . . . . − 10 = −7

◮14. 8 − (−1) = . . . . . . . . .

◮15. . . . . . . . . . − (−6, 6) = 2, 8

◮16. −5, 6 + 3, 9 = . . . . . . . . .

◮17. . . . . . . . . . + 3, 9 = −4, 1

◮18. −12, 7 − . . . . . . . . . = −8, 8

◮19. 3, 2 + 3, 1 = . . . . . . . . .

◮20. . . . . . . . . . − 2, 2 = −4, 9

Exercice 3

Effectuer sans calculatrice :

◮1. 2 + . . . . . . . . . = −6

◮2. . . . . . . . . . + (−1) = −6

◮3. −6 + 1 = . . . . . . . . .

◮4. 9 + . . . . . . . . . = −1

◮5. . . . . . . . . . + (−3) = −5

◮6. −3 − (−5) = . . . . . . . . .

◮7. 5 − 1 = . . . . . . . . .

◮8. . . . . . . . . . − (−5) = −5

◮9. . . . . . . . . . − (−8) = 7

◮10. −7 + 7 = . . . . . . . . .

◮11. 12 − 9 = . . . . . . . . .

◮12. −7 + (−4) = . . . . . . . . .

◮13. . . . . . . . . . + (−7) = −12

◮14. −18 − . . . . . . . . . = −8

◮15. 16, 8 − 9, 7 = . . . . . . . . .

◮16. . . . . . . . . . − 1, 3 = 8, 5

◮17. 2, 6 + (−6, 7) = . . . . . . . . .

◮18. −3 + . . . . . . . . . = 1, 7

◮19. −5, 1 − . . . . . . . . . = 4

◮20. 5, 4 + 0, 7 = . . . . . . . . .

Exercice 4

Effectuer sans calculatrice :

◮1. −5 + . . . . . . . . . = −11

◮2. −7 + (−8) = . . . . . . . . .

◮3. 8 + (−2) = . . . . . . . . .

◮4. 2 + 2 = . . . . . . . . .

◮5. −12 − (−8) = . . . . . . . . .

◮6. 9 + (−9) = . . . . . . . . .

◮7. 6 + 1 = . . . . . . . . .

◮8. −7 − (−2) = . . . . . . . . .

◮9. 5 + 2 = . . . . . . . . .

◮10. . . . . . . . . . − (−6) = 9

◮11. 9 + 7 = . . . . . . . . .

◮12. −9 + (−9) = . . . . . . . . .

◮13. −1 − 7 = . . . . . . . . .

◮14. . . . . . . . . . + (−10) = −14

◮15. −4, 3 − . . . . . . . . . = −9, 8

◮16. . . . . . . . . . − (−4, 4) = 2, 3

◮17. . . . . . . . . . + 1, 8 = 6, 8

◮18. 0, 4 + . . . . . . . . . = −1, 1

◮19. 4, 1 − (−0, 1) = . . . . . . . . .

◮20. . . . . . . . . . − (−3, 9) = 0, 9

Année 2023/2024 https://www.toupty.com/exercice-math-5eme-addition-relatif.html

https://www.toupty.com

	Les énoncés des exercices

